BRI ZERAFREIVELE (-)

i = 1 2 3 4 6
FLH| 10 5 8 1 4
pe 4
v

,J—?};\ﬁé

R ZEBAIRES PEAE (Z)

i % 1 2 3 4 0
I 5| 11 12 3 7 6
¥t
v
BRI RS RS LR (-
i = 1 2 3 4 6
FLY| 7 6 5 13 14
pe 4
v

,J—?};\ﬁé

R OLmEBS RS A (Z)
i % 1 2 3 4 0
FLE| 12 10 4 11 9
peage
v

,Lgévé




BRI EBRIRRAGEAE (&)

N 1 2 3
A 4 9) 3
Wz

7
A S

; « T 4 ) e
FR T EBAFRESPELE (Z)

i = | 2 3
T1 5| 9 6 2
A
F X

S

b7 - S AR 5 ¢ 3z
2 AR = é*ﬂi‘ii—% (=)

N 1 2 3
I | 6 2 7
pEaRS

AN
%%#ﬁ

R R EBEA GRS FREAE (D)

¥ =X 1 2 3
=) 8 9 3
i

©
#%#ﬁ




